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The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
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If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 80 are printed both in English and in Kannada. Doubts
regarding the meaning and translation of Question Serial No. 1 to 80 will be settled
based on the Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.
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without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. The Joint Commissioner’s Report
i. Was the first colonial report on Malabar.
ii. Explained reasons for agrarian unrest among Mappila Muslims.
iii. Was brought out in 1792 — 93.
A) All of the above (i, ii and iii) B) Only ii and iii
C) Onlyiandii D) Only i andiii

2. The Second Kerala Provincial Conference held in Palghat in 1923 passed a resolution for
i. Equal participation of Indians in administration.
ii. Mutual harmonious relationship between Hindus and Muslims.
iii. End of exorbitant export duties.
A) None of the above (i, ii and iii) B) Onlyi
C) Onlyii D) Only iii

3. The movement that was a part of the formal programme of the Non Co-operation
Movement.
i. Drive against liquor consumption.
ii. Move to remove untouchability.
iii. None of the above.
A) Only iii B) Only ii
C) Onlyi D) None of the above (i, ii and iii)

4. The activities of the Chittagong Rebels were characterised by
i. Group action aimed at the colonial State.
ii. Participation of young women.
iii. All of the above.
A) Only iii B) Only ii
C) Onlyi D) None of the above (i, ii and iii)
5. What is to be done ? was
i. The basic text of the Mensheviks.

ii. Against ‘legal Marxists’ and economism.

iii. Charter of demands submitted to the Czar.
A) Onlyi B) Only ii
C) Onlyiii D) None of the above (i, ii and iii)
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6. The Directorate of Enforcement is empowered to

i. Investigate the offence of money laundering and violations of foreign
exchange laws.

ii. Investigate governmental corruption.

iii. Investigate cases of tax evasion.
A) Only i

B) Only ii
C) Onlyiii

D) None of the above (i, ii and iii)

7. Which one of the following sequencing is correct according to the layers of
Atmosphere ?
A) Stratosphere — Mesosphere — Exosphere — Thermosphere — Troposphere
B) Troposphere — Stratosphere — Mesosphere — Thermosphere — Exosphere
C) Mesosphere — Troposphere — Exosphere — Stratosphere — Thermosphere
D) Thermosphere — Stratosphere — Mesosphere — Troposphere — Exosphere

8. Aravally range is the oldest mountain range in India. Which one of the following
statements is not significant about Aravally mountain range ?

A) Aravally range became a barrier during mansoon, so mansoon clouds move
east ward towards and nurture sub Himalayan rivers and feeding North Indian plane
B) Aravally becomes a block between Thar Desert and North Indian plane

C) Aravally acts as a separation wall between North and South India

D) A greener Aravally acts as a ground water recharge for the region facing acute water
scarcity

9. Straits are thin water bodies that separate main land and connects two major ground water
resources. Bosporus strait separates Asian Turkey from European and it connects
A) Black Sea and Sea of Maramara
B) Atlantic Ocean and Mediterranean Sea
C) Black Sea and Arabian Sea

D) Mediterranean Sea and Baltic Sea

10. Which condition (Temperature, Rainfall and Soil type) among the following is better
for wheat cultivation ?
A) Temperature — 22 — 32°C; Rainfall — 150 — 300 cm; Soil — deep clayey and loamy soil
B) Temperature — 27 — 32°C; Rainfall — 50 — 100 cm; Soil — inferior alluvial or loamy soil
C) Temperature — 20 — 25°C (mild cool and dry climate); Rainfall — 40 — 45 cm;
soil — loamy soil
D) Temperature — 10 — 15°C (sowing time) 21 — 26°C (Ripening and Harvesting time);
Rainfall — 75 — 100 cm; Soil — well drained fertile loamy and clayey loamy
-4-
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11. Following is the list of Hydro Electric Projects in Kerala. Which among them is the
Hydro Electric Project in Idukki district ?
A) Lower Periyar, Neriyamangalam, Panniyur, Sengulam
B) Sholayar, Sabarigiri, Peringalkuthu, Kalladi
C) Idamalayar, Kakkad, Sholayar, ldukki
D) Pallivasal, Kuttiadi, Malakavu, Sholayar

12. Basin Countries of Bay of Bengal
A) India, Sri Lanka, Malaysia, Bhutan, Bangladesh
B) Bangladesh, Nepal, Sri Lanka, Myanmar, Andaman
C) Bangladesh, India, Indonesia, Myanmar, Sri Lanka

D) Myanmar, India, Pakistan, Indonesia, Malaysia

13. Which of the following statement is/are true in the case of recent Indian labour market ?
A) There has been tremendous change in India’s Work Force Participation Rate
after 1990
B) Female Work force participation has been quite high in India
C) BothAand B
D) Neither A norB

14. NABARD (National Bank for Agriculture and Rural Development) is an example for
A) Non-Banking Financial Intermediary
B) Banking Financial Intermediary
C) Statutory Non-Banking Financial Organization
D) Statutory Banking Financial Intermediary

15. Which of the following statement is/are correct about the assessment of five year
plans in India ?
I. The Second Five Year Plan was a big success despite the scarcity of foreign exchange
reserve.
II. The Second Plan was based on Wage Good Model.
lll. The First Plan was a great success as the production targets were more than fulfilled.
A) Only (I and 1l1) B) Only (llI)
C) Only (Il and I11) D) Only (1)
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16. Of the following which is not a major area of work related to the Department of

Investment and Public Asset Management (DIPAM) that comes under the Union
Finance Ministry ?

|. Strategic Disinvestment.
Il. Recapitalization of Public Sector Banks.
[ll. Minority Stake Sales.
IV. Asset Monetization.
A) Only (I and Il1) B) Only (lll and 1V)
C) Only (I1) D) Only (1V)

17. Of the following which is/are not included in the list of centre indirect taxes subsumed
in to the Goods and Services Taxes (GST) in India ?
I. Entry Tax and Entertainment Tax (other than taxes levied by local bodies).
Il. Excise duty levied under medical and toilet preparations.

lll. Service Tax.

IV. Tax on Lottery, Betting and Gambling.

A) Only (I and IV) B) Only (I and Ill)
C) Only (Il and I1I) D) Only (Il and 1V)

18. Which is true according to the Gender Gap Index 2021 prepared by the World
Economic Forum ?

A) Norway is the most gender equal Country and Pakistan is the least gender equal
Country

B) Iceland is the most gender equal Country and Afghanistan is the least gender
equal Country

C) Finland is the most gender equal Country and Afghanistan is the least gender
equal Country

D) Bhutan is the most gender equal Country and Pakistan is the least gender equal
Country

19. “Free and Compulsory education of all children in the age group of six to fourteen
years” is guaranteed under which Article of the Indian Constitution ?
A) Article 22 B) Article 21 A C) Atrticle 32 D) Article 42

20. The Writ of Habeas Corpus can be issued against

A) Private individuals only

B) Public authorities only

C) Both Private individuals and Public authorities

D) It cannot be issued against Private individuals or Public authorities
A -8-
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21.

22.
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24.

25.

26.

27.

28.

29.

Separation of judiciary from the executive is guaranteed under
A) Article 30 B) Article 14 C) Article 50 D) Article 51

In which of the following cases did Justice K. S. Hegde observe that Fundamental
Rights and Directive Principles of State Policy constituted the ‘Conscience of the
Constitution” ?

A) Kesavananda Bharati vs State of Kerala

B) M.C. Mehta vs Union of India

C) Mohini Jain vs State of Karnataka

D) D. K. Basu vs State of West Bengal

The word ‘Integrity’ was added in the preamble of the Indian Constitution as per
which of the following Constitution Amendment Act ?

A) 42" Amendment Act B) 44" Amendment Act

C) 1t Amendment Act D) 103“ Amendment Act

The division of powers between the Union Government and the State Governments
is dealt under

A) 7" Schedule B) 6™ Schedule C) 9" Schedule D) 10" Schedule
Which of the following is the National language of India ?

A) Hindi

B) Malayalam

C) English

D) There is no National language of India as per the Constitution of India

According to Article 124(2) of the Indian Constitution, the age of retirement for the
judges of the Supreme Court of India is
A) 62 B) 65 C) 67 D) 58

The ‘Statue of Unity’ is located in which of the following Indian State ?
A) Bihar B) Karnataka C) Tamil Nadu D) Gujarat

Which is the book published by Kerala Sahitya Academy and compiled by Thrissur
District Administration about Kerala floods ?

A) Pralayaksharangal B) Pralayakazchakal

C) Kannerkanal D) Mahamari

The State Government seeks legal advice from whom ?

A) Attorney General B) Governor

C) Chief Secretary D) Advocate General
-10-
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30. Lokayukta can resign by submitting resignation to

A) Chief Minister B) Governor
C) Speaker D) Chief Justice of High Court
31. Name the Solid Waste Management Project started by Kudumbasree.
A) Niyukti B) Thelima C) Thalir D) Sampoorn
32. Kerala State Commission for Protection of Child Rights came into existence on
A) 2004 B) 2005 C) 2013 D) 2012
33. In State Civil Service, Class | and Class Il employees are known as
A) Gazetted Officers B) Non-Gazetted Officers
C) Government Officers D) Non-Government Officers

34. Which of the following statement is/are false about Ascorbic acid ?
i. It shows antioxidant activity.
ii. Itis a strong reducing agent.
iii. It can be synthesized in the body.
iv. Involved in hydroxylation of prolyl and lysyl-residues of collagen.

A) Onlyiandii B) Onlyii and iv
C) Onlyiii D) Only i, ii and iv
35. Which of the following is the main thinking part of the human brain ?
A) Hind brain B) Cerebrum
C) Mid brain D) None of the above

36. Which of the following statement is/are correct about ‘One Health’ approach ?
i. The objective of the concept of One Health is to improve human and animal health.
ii. ‘One Health’ programme is mainly concerned with the health of human beings only.
iii. It involves medical professionals only.

A) Only ii and iii B) Only i
C) All of the above i, ii and iii D) Only i andiii
37. Which of the following increases your risk for type 2 diabetes ?
A) Not getting enough exercise B) Eating too much sugar
C) Being over weight D) Aand C

38. A project offering free treatment for all children (below 18 years of age) in Kerala
irrespective of their income status is
A) Arogyakiranam B) Amrutham
C) Aardram D) Aswamedham
A -12-
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FINTIYNTY, CINTYT T° 2 SOTORTT LHTBY, 3 WTOB/I), VYRS ?

A) BT, 39,037 ANDTIYTO B) ©80dnn "3BT, ST

C) ©QT RTH[Y BRHOTIRT) D) Az C

30V U, mi@ﬁ (18 BRF303 TR WODAT) WEBT BWIODT RSO3 eﬁ%ﬁd 0233
3BT ODT), DeTOT 03RRI

A) eﬁ&aerﬁﬁ%dwo B) w30

C) sgFo D) w3530
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39.

40.

41.

42.

43.

44,

45.

46.

The Hubble constant has the dimension of
A) Time B) Mass C) Distance D) Frequency

An eye specialist prescribes spectacles having combination of diverging lens of focal
length 10 cm and a converging lens of 40 cm. The power of the lens combination in
diopters is

A) 7.5D B) —-7.5D C) 12.5D D) —12.5D

The kinetic energy of a body increases by 125% due to change in velocity. The
momentum of body changes by
A) 150% B) 25% C) 50% D) 225%

Which Scientific payload from India was employed in Chandrayaan — | Mission to moon ?
A) Chandrayaan — | X-ray Spectrometer (CIXS)

B) Moon Impact Probe (MIP)

C) Moon Mineralogy Mapper (M3)

D) Radiation Dose Monitor (RADOM)

The gas possessing highest value of Root Mean Square (RMS) velocity at a definite
temperature is

A) Hydrogen B) Oxygen

C) Sulphur dioxide D) Carbon dioxide

Which among the following elements have the highest metallic character ?
A) Na B) K C) Li D) Rb

The relative order of acidity of the oxy-acids of chlorine is
A) HCIO>HCIO,>HCIO_>HCIO, B) HCIO<HCIO,<HCIO,<HCIO,
C) HCIO,>HCIO,>HCIO>HCIO, D) HCIO>HCIO,>HCIO >HCIO,

Which of these two institutions collaborated for India Innovation Centre for Graphene ?
A) CUSAT and C-MET

B) Kerala Technical University and CUSAT

C) C-MET and Digital University Kerala

D) Digital University Kerala and CUSAT
-14-
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TWS* RATI0TY) SECIVER Y TROQT.
A) "ZooD B) mxonw C) ©eT D) e3¢

63, 323 30 FPREFS* S0 10 F0L30eE3TT 9280 ORAT Torie 40 FHOLREIT'S 2,539
BORRTT FOSREFONT), BRWRITIT. BO3RETTTITY, SORHRT FoodpewSod I8
A) 7.5D B) —7.5D C) 12.5D D) —12.5D

VNS WTGRTERCW0TIN BT WOTIFOIN 125% T, BT, Tems S&ensy
SR, WBRMITT.

A) 150% B) 25% C) 50% D) 225%

23033, 0% — | WRI'FY, 2303, ¢TI 3N T2 AT FeSREBRY, WIRLDOWEY ?

A) 2303,03RT — | @F° -Te ﬂwﬁ%emeéscs (CIXS)

B) =003 aom;;a’@ew (MIP)

C) ST LoITI0n w2,TT° (M3)

D) 3eR030e35° Brex® mndet® (RADOM)

20T AOF R, TITRRITEY, Tts’ e ﬁmezf (RMS) Senas &2 o7 ws’D@ém&g{ TROQTO
SN

A) TR R B) wins’

C) Avo® gws & D) sowes® fwd &

83 IINT BONTD, AN SEre&ecdd msaogms;% TRODTORYT CIRTTD ?
A) Na B) K C) Li D) Rb

BRLOD'S &3 - CORAT MY oI ToTeT 3,30

A) HCIO>HCIO,>HCIO_>HCIO, B) HCIO<HCIO,<HCIO <HCIO,
C) HCIO,>HCIO, >HCIO>HCIO, D) HCIO>HCIO,>HCIO,>HCIO,

38 A0 mﬁ@qu CINTYT 113, T TN §TTT SATWT %eo@aﬁﬁ BHO3REN JeRT ?
A) CUSAT =022 C-MET
B) 3e0¢ 385 cdodmaees 08 CUSAT
C) C-MET &02) &u2e3e® 0300328 $e0%
D) &eeser odndmees $eo¢ =080 CUSAT
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47.

48.

49.

50.

‘Once there lived a woman who restrained herself from the stringent rules of caste system.
While she was carrying a child, she broke the caste law by drinking water from a pot
made of arecanut leaf being used by an outcast. Annoyed by this incident the head of
the family killed her. The villagers came to the conclusion that the assassinated women
must have emerged as a Goddess. Her Theyyams performed in every year in the month
of April’.

The above description is related to which of the following Theyyam in Kerala ?

A) Padamadakki Bhagavathi B) Padikutty Amma

C) Manakkot Amma D) Puthiya Bhagavathy

Which of the following statements is/are related to Sunil Chhetri ?
i. Sunil Chhetri is nick named as ‘Sikkimese Sniper’.
ii. Only Indian Player to be inducted in Asian Football Hall of Fame.
iii. The first footballer to receive Khel Ratna Award.

A) ionly B) i andii only
C) iii only D) All of them

Read the following statements and then choose the correct answer.
i. The Bharat Bhavan is a cultural institution, set up in 1984, with the aim of
leading and encouraging such a symbiosis between communities and cultures.
ii. The Bharat Bhavan instituted a ‘Vivarthaka Ratnam’ Award for Best Translator.
A) Both are true B) Only statement i is true
C) Only statement ii is true D) Both are false

Match the following :

i. A. T. Kovoor a. M. Vasudevan Nair
ii. Cynic b. Abraham Thomas
ii. Kaanam c. K. M. Mathew
iv. Ekalavyan d. E. J. Philip
Select the correct codes from below :
i ii iii iv
A) d b a c
B) a c d b
C)b a d c
D) b a c d
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“2,000 FOTEY m@wﬁf&m FOED JODTONPOT ST T QWFOPRBROT méoqiojm%@o
TORROGTIH. LT TOMOTRY, BRTELON, ST 20T TOJRTTIY, WVQOR W, TIRETE
WIRST 9RF TOPOL WOTFOW 0T QeTZ) BORTH. &3 FeIJV00T miﬁ% BOED0WT CHTRRT
SFODT, FROTOWLIT. T12,3FTL TET HWIT Bo&F0dN TeIIURN TRTBRNYTLIFOmD
SEBREAITTD. SFOD 0B, 0 BT T3 JAF DX, SONTY, SWORLIMOTT.”

B0eIT QLT/TEOIN FeTFTY, 33 FINT 03 F03, 078 FOLORATI ?

A) TTR0BS s B) wasows, Wy

C) [nTBRS wm) D) R Pn=e

B3 FINT 000 TePINTO RAS® 368,71 TOWOHAS ?
L AIS ¢Ied, ©WT[Y AT F T 2000 THORNLINT.
. QT PR T F FeBF I FeTFBAROT DT LTI BL3MT.
iii. 23¢e*T8 ¥,3Y TAET [ATO PR Y* SO0
A) i S, B) i 2302 ii &g,
C) iii =093, D) a@n$d awmp

FINT TEPTRTTY, LOO 30T FOCINT GVITBII, SOR.
I 47903 IBIPY) Lo A0F, 8T xoﬁaomm% , AROTHORNAY 30T BoF, SN
ST QBT ATLEBIVTY, TOF TR WO T, €T LROT GV e300 1984 T,

m@&@mo&a&.

ii. ¢80 P&3 xoﬂcpo:ba BT LRTOTTTITON ‘D[FFT TZO' T, IR ODT), m@&%d.
A) QTER TO B) S¢9F i ®ws, 3O
C) Iewdii 23, B0 D) 0@ 3
FINTZNTTY, BRODR

i Q. 3. BReRT® a. 0. W/IRTETI® TOT?

ii. 22T b. 2,300 Fox0%°
iii. ToI=o° c. 3. 0. DR, TR,

iv. DTOT d. . ¥ 9x%°

FINTPYNTOT FOCIRT FOFEINF) BOR
i i i iv

A) d b a c

B) a C d b

C)b a d c

D) b a C d
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51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

On rewriting 0.3, 0.6, 0.75, 1.01 in the rational form, we get

A 3 3 3100 iggm

) 1015!4! 99 101314,1 0

3 3 3 101

C) 3131§’@ D) U Rt A R

10’3’4’ 99 10 54 100

Find the value of x such that 93 = 274>,

A) 18 B) - o > D) —
) & ) £ ) 5 ) 18

Compute (20 + 4) x 6 — 1 where + means +, x means — and — means +.
A) O B) 1 C) 2 D) 3
Predict the next two terms of the sequence 2, 3, 106, 177, 5618, 10443.....
A) 277954, 661137 B) 297754, 616137

C) 279754, 636117 D) 254977, 673116

77
The area of a giant pizza slice making an angle 60° is 3 cm?. What is the radius of
the pizza slice ?

A) 14 cm B) 3cm C) 11 cm D) 7cm
Pick the odd one from 0.6, 0.60, 0.66, 0.666.
A) 0.6 B) 0.60 C) 0.66 D) 0.666

Product of n numbers is 1155. Sum of these n numbers is 27. Find the value of n.
A) 3 B) 4 C) 5 D) 6

Raju walks 3 m from his office in the North direction. He turns left and walks 3 m.
Then he turns right and walks 1 m. How far is Raju from his office ?
A) 4m B) 5m C) 6m D) 7m

P is the wife of B. Husband of C is D. B is the son of D. Then how is P related to C ?

A) C is the mother-in-law of P B) P is the mother of C

C) Cisthe aunt of P D) P and C are not related

If CAT is WCD, PEN is QGQ, then TIX is

A) KAU B) AKU C) AUK D) UKA
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g8 SeE3Y, 0.3, 0.6, 0.75, 1.01 &) Bt wodomon 79y

VB30 63
3 33 100 3 23101
A 1052799 B) 10'3°4'100
2 3 100 3383 1d1
9 10'3'4 99 D) 10'5"4"100
98 = 27+ &1t X T [IRPYTI), TOBILROWO.
A 18 B) - c) 2 D) —
) & ) ) 5 ) 18
+ ©0TT +, X B0TT — &0 — L0TT + $TT (20 + 4) x 6 — 1 52{@95% [RE.
A) O B) 1 C) 2 D) 3
9308, 308 WORT AT xo&%mf@t w2, 3, 106, 177, 5618, 10443.....
A) 277954, 661137 B) 297754, 616137
C) 279754, 636117 D) 254977, 673116
77
60° 3RETTT OLVTWRTT 00T GZ, T, A T°T QAT 3~ CM? SNT. 4y F TS
3%, O, ?
A) 14 Zo.Qoe. B) 3 Fo.oe. C) 11 Zo.awe. D) 7 Fo.qoe.

QRN IT=Z, 0% 0.6, 0.60, 0.66, 0.666.
A) 05 B) 0.60 C) 0.66 D) 0.666

n 30@32571%3 msae)?,%j 155. 83n xo@%mf ®RE 27.n 3 w@swmq FOTBIE 0.

A) 3 B) 4 C) 5 D) 6

To%D 3?9% N elevblelafivpicte; @z%brf 3 SW0e TECIVTIFE. BTOST LB @cééé doon 3 Qe.
SEOR0TS. ©B0TT @SR WF STON 1 ¢, IHOINTYS. TowO BT SeAV0T D),
TCRTBYTRE ?

A) 4 Qoe. B) 5 Qwe. C) 6 e. D) 7 oe.

P 200m$0 B 3 308, C 030 now D. B 0320 D 030 30n. Tomwsd P «0203%0)
Roworng C R Qmonzes ?

A) C o3P o =8 B) P o3 C ¢ 3000

C) CxoPo® z:":ﬁtm@ D) P =030 C mowolsoe),

2,070 2568 CAT 2020059730 WCD 205505338, PEN 220009530 QGQ 205503838, TIX 20020059t
DTN ?

A) KAU B) AKU C) AUK D) UKA
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61.

62.

63.

64.

65.

Under Section 164 of the Code of Criminal Procedure, 1973
A) Only the statement of a person produced by the police or investigations agencies
can be recorded

B) Statement of the person approaching the Magistrate independently can be
recorded

C) The statement made need not be voluntary
D) The police officer is authorised to record the statement

Which of the following statements holds true for the Magistrate’s power to send an
accused to remand under Section 167 of the Code of Criminal Procedure, 1973 ?

A) If the investigation is not completed within 60 days, the accused must be released
on bail

B) The maximum period of remand in police custody cannot exceed 15 days, after that
only sending to judicial custody is possible

C) The maximum period of remand in judicial custody cannot exceed 15 days, after that
only sending to police custody is possible

D) If the investigation is not completed within maximum period of 90 days, the accused
must be released

Usually a copy of F.I.R. is filed with the Magistrate having jurisdiction to take
cognizance, by the police officer in compliance to

A) Section 156 of Cr PC B) Section 157 of Cr PC
C) Section 158 of Cr PC D) Section 159 of Cr PC

Select the correct statement.

A) Sexual intercourse by a man with a woman with or without her consent when she is
under the age of 18 years amounts to rape

B) Sexual intercourse by a man with a woman of any age without her consent amounts
to rape

C) Sexual intercourse by a man with his own wife under 15 years of age without her
consent is not rape

D) A and B both are correct

X, a surgeon, in good faith communicates to his patient his opinion that he (patient)
may not survive. The patient dies in consequence of the shocking communication.
X'is guilty of

A) Murder

B) Causing death by negligence

C) Culpable homicide not amounting to murder

D) No offense
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BTOG 3,030 Fok, 1973 T AFT* 1643 ©RDY,

A) PO 530 BT xoﬁ@ﬁ% TORTOTRIT agséojmg)s o*oe@?éodaaﬁg{ T8, TDOTTOT
B) AZ0,50N 5359,28% 6302, HOTEF RO 53,8 050 BT, WD IRWBITD

C) QBT TePBTOIN B0, C0BeMLIese),

D) @e@éodoag{ TRNDTL0 FPOETE QTN LHQTITNT
BTG 3,08 Fok3, 197330 FT* 1670 LRADY, STReL0IDTY OBROT T FF0WIL)
mgaz; eL3T* @@@d@a F0WORATI0Z B3 FENT AT BEPINT BOCTRN ?

A) 60 DFMYY, Ba303Y, FREF RYRBNTIT, L5TULELODT IR0V sded LTINS RT3

B) Zpdex® 5%@053@1 ﬁ@%@ﬁfaotﬁe 9OV 15 @57@5& QOCTLINTT, LN0ZT WIS, mdomm
2OTTE FALBLO BT,

C) T9,0d0n L0FIBY, MOF 090 [HODN 15 DIRTI) 03T, TS WRE, A
sxw@ﬁ BHLILO TG,

D) 10w 90 QINe &modg, 32’0@303352{ @’@%FM@S@@D& @d@@&oﬁa@{ WTBEONT SRBLIEB

ORI, 3N T 0. 803 TS0 TPOCT® 90T WLFVTFHOZ BPTITT
99, 030339, 8 O30T, BRHOLITOT &, W e &R0TOToN FYFOZT.
A) CrPC o 78" 156 B) CrPC o A35° 157

C) CrPC o 5" 158 D) Cr PC o Ag=* 159
ROCINT TewFORT) 503 TRA.

A) RTORINL) WoHFIRWFRODN ©T 18 JRFE0T FRHO TODATTEINTIN BFOD
u&wﬁoi@oaﬁ Clamtp! w‘&ﬁ AQT IBROT ¢ 0NT ToyIRensDy) @3%‘&335%6 ARIRTTNTOZT

B) @oomey) cdnsgcle SoAT mLE03R0NT SBeD Wt Aus SWRE & oNg BoTsF ey
©T,2ITF TBRTNTTT

C) 15 SRFBRINT B, B0 ToBEILONT &0 LTt BYT YTORT & 0NT BT Y
@@gmdm&

D) A %2 B 20@R B00IRAG

X, 2wy BRI8TF, ATHBHCIR0NN ST TrenTt &2 2Td GUYCINTDY, 0w IF

525, 030TIY, $PROTYS. BFFITFO FOTHRT TWOFBITON TR NI TOINTYS.
X OTTIH.

A) 3nd

B) ?D@rge@ocs TOWN To0d

C) 3nen Zxxwmons ELE) > 56%%
D) 033ne)de ©@RTENe,
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66. A obtains property from B by saying that “your child is in the hands of my gang and
will be put to death unless you send us ten lac rupees”. A commits
A) Criminal breach of trust B) Robbery
C) Extortion D) Theft

67. Section 354D is related to which of the following ?
A) Assault or use of criminal force to woman with intent to disrobe
B) Stalking
C) Sexual harassment and punishment for sexual harassment
D) Voyeurism

68. The purpose of punishment is

i. Incapacitation ii. Deterrence iii. Reformation iv. Discrimination
Choose the correct combination, using codes
A) i, ii and iii are correct B) i, iii and iv are correct
C) i, ii and iv are correct D) iand iv are correct
69. Open air jails are setup under what philosophy ?
A) Incarceration B) Protection of society
C) Reformation of prisoners D) Retribution

70. The basic object of the Right to Information Act, 2005 is
A) To empower the citizens
B) To promote transparency and accountability in the working of the Government
C) To make our democracy work for the people in real sense
D) All the above

71. Section 12 of the POCSO Act, 2012 deals with
A) Punishment for sexual harassment B) Sexual assault
C) Penetrative sexual assault D) Abetment of an offence

72. Which statement stands valid in regard with the POCSO Act ?
i. Every crime against children must be reported as per POCSO Act.

ii. Those who do not report sexual offences against children may be punished as per
the Act.

A) Only i B) Only ii C) Bothiandii D) None of the above

73. Section 25 of the Narcotic Drugs and Psychotropic Substances Act, 1985 deals with
A) Punishment for embezzlement of opium by cultivator
B) Punishment for allowing premises, etc., to be used for commission of an offence
C) Punishment for contravention in relation to psychotropic substances
D) Punishment for contravention in relation to poppy straw
A -22-
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“Q33) oM T, M9, 0N°S FoDYTI 0T Jeey Tedt TS ©F TRTICWNTFRY FHWINTT
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POCSO 300031 B0200QT03 03Re HePFosn msgmms ?

i. POCSO (@pedp) 5o0030D %503 08¢ ésdacgpcs B, 803ROTD LSTOIIHR, TX) RBELIER.
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74. Which of the following statements about the Narcotic Drugs and Psychotropic
Substances Act, 1985 is true ?
A) Consumption of excessive alcohol is punishable under the NDPS Act
B) Recommends treatment/rehabilitation of drug users and punishment for drug peddlers
C) Farmers growing opium are permitted to grow and consume unlimited amounts of
opium
D) Provides different punishment for drug users and drug peddlers

75. The Police Officers and persons undergoing training after selection for appointment
as a Police Officer, shall be subject to the provisions of discipline and are liable to

i. discharge to the best of their abilities their lawful duties in a lawful manner with due
courage, determination and impartiality.

ii. utilize their capabilities lawfully to the maximum for preventing the commission of
cognizable offences and for enforcing the law always.

iii. carry out lawfully or unlawfully the orders of the authorized superior officers,
magistrates and judicial officers.

iv. conduct themselves in accordance with the general or special order issued by the
State Police Chief, while engaging in each duty and on other occasions.

Mark the correct statement/s

A) All are correct B) Only ii and iii are correct

C) Only i, iii and iv are correct D) Only i, ii and iv are correct

76. Select the correct statement with reference to Section 33 of the Kerala Police Act, 2011.

A) Police may make and keep audio or video or electronic records of any activity
performed by them during the discharge of their duties and such records may be used
in any proceedings in which the correctness of Police action is called in question

B) No Police Officer shall prevent any member of the public from lawfully making any
audio or video or electronic record of any Police action or activity carried out in a
public or private place

C) Only Ais correct

D) Both A and B are correct
A -24-
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74, SOBREFT FTT WY A BRCLR, 0T TFFNY 50T, 19853 i} S5 FENT

TEPINSE 03N TO 2

A) NDPS 5200083038009, 9803500 083, Keess é@&rmﬁcﬁ

B) Snwwmad weeson wid /DSHrad mz) SRcE §7) [Nt $3 080T
SFOTA, BREOT
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EIROTOETRNT
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75. FPOCT HFON BOB) WmF FPACTE QFTOCITN ﬁemﬁmeﬁm 6:303%033 J03T BTLIed
TEOZ0GTOT F ML 3T QWOTINT wdTETYT 0B 1} BRVMTTINTOTIT.
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C) A I»8, O3RN
D) A &02) B n¢¥tz@e 3003mNas
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77. Which of the following statements is incorrect ?

A) All Police Officers on duty, in their dealings with the public, shall exhibit courtesy,
propriety and compassion appropriate to the occasion and use polite and decent
language

B) The Police Officers shall not use force against anybody or threaten that force be
used or take any adverse Police action or legal action unless it is necessary to carry
out any lawful purpose

C) The Police Officers shall not exhibit special sympathy in their dealings with the victims
of crimes and give due consideration to the special needs of women, children, senior
citizens and the differently abled

D) The Police Officer shall give up unnecessary show of aggression and avoid
intemperate behaviour even on provocation

78. Section of the Kerala Police Act, 2011 states that a Police Officer on duty may,
for avoiding disorder, obstruction and danger, regulate and control traffic in any public
place and for that purpose give reasonable directions to all concerned and they shall be
bound to obey such directions.

A) Section 32 B) Section 64 C) Section 57 D) Section 61

79. A: Destroys, deletes or alters any information residing in a computer resource or diminishes
its value or utility or affects it injuriously by any means will not attract the punishment
provided under Section 66 of Information Technology Act, 2000.

B : In order to attract the offence under Section 66, the act in question should have been
committed with wilful intention.

A) Ais true and B is the correct explanation of A

B) Ais wrong but B is true

C) Both A and B are wrong

D) None of the above

80. A :Mr. A while searching in internet for booking some air tickets, accidentally is being
taken to a website containing child sexual content by a pop-up advertisement,
wherein he merely downloads a video containing child sexual abuse after seeing it. As
such, he has not committed any offence under Section 67-B of Information Technology
Act, 2000 ?

B : In the above situation, as Mr. ‘A’ visits the child sexual content website accidentally
and that too by a pop-up advertisement and not want only, it does not attract Section
67-B as the offence requires wilful intention.

A) Ais true and B is the correct explanation of A
B) Ais wrong but B is true

C) Both A and B are wrong

D) None of the above
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81. Complete the sentence given below using the proper tag question :
I’m going to get an email with the details,
A) am|? B) isn’tit? C) am’'nt1? D) aren’t|?

82. If I had more time, .
Which among the following is the suitable clause to complete the conditional sentence
given above ?

A) 1 will help you B) | help you C) 1 would help you D) I helped you
83. What is the single word for “a meeting at an agreed time and place” ?

A) plaza B) ginseng

C) rendezvous D) none of the above options

84. Pay attention to the usage of the word fast in the sentences given below and decide
what part of speech they function in the given order of the respective sentences.
i. If you take the fast train, you should be there in an hour.
ii. Some prisoners began a fast to protest against the appalling conditions.
iii. Many religions require their followers to fast at certain time of the year.
A) Adjective, noun, verb B) Verb, adverb, adjective
C) Adjective, verb, adverb D) None of the above

85. Rewrite the sentence below using a single word instead of the euphemism underlined.
The woman next door has just had a visit from the stork.
A) baby B) guest C) dog D) heart attack

86. Choose the correct form of the verb in brackets to rewrite the sentence given below.
Each of the boys (to be) given a medal yesterday.
A) were B) had been C) is D) was

87. Complete the sentence given below using the appropriate phrase from a foreign
language used as an English idiom.

He went on about the importance of a sense of duty.
A) laissez faire B) compos mentis C) ad nauseam D) au fait

88. Read the sentence given below and respond to the directions :
Whatever the real origin of the fire, the truth is that it was inevitable, given the near-
drought conditions of the time and the fact that much of the city consisted of densely
packed wooden hovels served by an undermanned fire department.
The word hovels in the above sentence is a synonym of

A) Boxes B) Huts C) Platforms D) Crates
89. Fillin the blanks with the correct phrasal verb :
If there are any words you don’t understand, in your dictionaries.
A) look into B) lookthemup C) look at them D) look about
90. Correct the tense using the appropriate form of the verb in bracket.
By this time next month we (finish) all our exams!
A) will be finished B) will finish C) will be finishing D) will have finished
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